— N

o



= oL,

ohe H40] Uil

2.

36+ —




w| oo

[l N



o T e N i
geb L8 L4 Bl ol el gt He mw 2 A}

ER I R

YEE A



5. Tg <EI>opgol A, [ [ et gk 55 ey

2 HEOAQ,
<H7]>
1
4+§:4><2:8
1
5—?:5XD:D
Ct-
=



— |
oju
iy
T

@ 124 3 148 @ 164 G 184

g7t

I

D 108



km



8. &7 WiAls shA L.

8.7+29

YR
=%



9.

o] WAl BHA1 0.

0.37)10.36




10. [ Jore] aure 5
1.7)3.06 = 17)__]

m{ru

ke

oL

OAQ.



BEo



g7

B

N7tEe

N



13.

HAS TR A £Ho) S

28m 0| AR E £ 40|12

a‘é*i 7

==



14. [ Jotell >, = <= quA W oA Q.

9.52+0.56 [ ]41.65 +2.45




15. [ Jotell >, = <= guA W oA Q.

8.05+023] |67.2+1.6




16. 249 eile 249 eflog 34 Aste B gyt
52 Y2 HEoAe




17. o= WeAle] 5e & A Aol A vrEdsto] LEhAl L.

10.403 + 1.5

YR
=%



gt 7ol 0.27kg &
o]-/\]

7H

| Abg o] wrETHY,

ks

[e]
—

™
=



1.82




20.

A2 BAE 22.11kgol T, @AY FAE 6.7kgdY . @
A BAlE @E 2] FA19] 2 uiQlA] A L.

S ER o



21. 14L9 FA71 AdH5U o] FAE S Aol 1.75 LA whAlchA ¥
Argro] mhd & Ql=A] FHSHA L.

e 3



22,

R

® 45+16=2---13

® 9-035=25---0.25

& B D2AL (F37)

@ 234+11=21---0.3



23. 1958+8.7 S Ad4 H

7101z IT2A]Q.,

D 8.7x2+0.18
® 8.7x2+ 0218

B 87%x2+021

@ 87%x2+21

@ 8.7x2+218



24. oW $E 742 Urojof & AL FEste] FohaltY 438.08 9]
=5yt Hh2A] ALt ghe ek .

g«

18



25. AHEE9] EolE oA L.

1 1 1 2



